


[image: image1.wmf]{

}

2()

(,)(,)(,)

jxy

gxyGgxyedxdy

pxh

xh

+¥+¥

++

-¥-¥

==

òò

F

.
(1)


[image: image2.wmf]{

}

2()1

(,)(,)(,)

jxy

gxyGeddG

pxh

xhxhxh

+¥+¥

-+-

-¥-¥

==

òò

F





(2)


[image: image3.wmf]11

(,)(,)

NN

kkkk

kk

CgxyCG

xh

==

ìü

×=×

íý

îþ

åå

F







(3)


[image: image4.wmf]{

}

1

(,),

gaxbyG

abab

xh

æö

=×

ç÷

èø

F








(4)


[image: image5.wmf]{

}

00

2()

00

(,)(,)

jxy

gxxyyGe

pxh

xh

+

--=×

F







(5)


[image: image6.wmf]22

Á

xy

grectrect

ab

æöæö

=×

ç÷ç÷

èøèø


2D-Фурье-задачи-1-4-GLAD.doc

_159192820.unknown

_159600468.unknown

_159758844.unknown

_159854260.unknown

_159940660.unknown

_162761564.unknown

